Y4 - Autumn - Block 2 - Step 6 - Subtract two 4-digit numbers - one exchange Answers

Question  Answer

a) 2,220
b) 2219
1 c) Part a) was easier because we do not need to do an exchange.
d) We need to do an exchange.
1ten can be exchanged for 10 ones.
5 1 hundred can be exchanged for 10 tens.
1 thousand can be exchanged for 10 hundreds.
a) H T O
3127
-1 1 09
2/0/8
b) Th/H T|o
7 6 ° '3
- 1,34
8 7,5/ 3|9
c) Th H T O
8 %4 |'s
-6 2 16
6|2
a) H T o
23 12 |7
- 1.3 2
1/95
b) Th H T O
7% '7 3
- 2 8 1
4 7 2
o) Th H T O
9/’ 'a 5
-12/3 6 0
7 4 5




Y4 - Autumn - Block 2 - Step 6 — Subtract two 4-digit numbers - one exchange Answers (continued)

Question  Answer

a) Th H T|O
F'217 0
-l1/3 2 0
1950
b) Th H T O
16 73
- 7021
< 6952
c) Th H T O
84 's |4 |5
- 19 21
7 24
No.
6 She has found the difference between the numbers in each column rather than making an
exchange.
2 £6,375
8 9,713




